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2 X 10                           5 X 4

60 ÷ 10                         6 X 10

11 X 2                              25 ÷ 5
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Aorle 2

Poar 5p.

Orange 10p

@ lzzy buys 5 apples How mch does she spend?

) Moeed buys 6 pears. How much does he spend?

) Daniel spends 70p on oranges. How many does he bug?
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Complete the number sentences to match the array. Now make up two of your own.
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n Ammar has 8 boxes.
@a S

He puts 5 marbles in each box.

He has 42 marbles left over.

How many marbles did he have at the
start?




